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Falling Star

Lunatico

Warsaw Nights

Gabriel Points Women Men Songs
Kevin 27.2
27.5
Leonard
27.8
Sheldon 281
Wesley 28.4

1. The pair that scored 28.4 points was either the pair that skated to Lunatico or Wesley's pair..

2. Wesley's pair scored 6 tenths of a point higher than Sheldon's pair..

3. Melanie's pair finished with 28.1 points..

4. Neither the pair that scored 27.5 points nor Wesley's pair was Elsie's pair..

5. The pair that scored 27.5 points didn't skate to Poeta Flamenco..

6. The team that scored 27.5 points didn't skate to Warsaw Nights..

7. Of the team that scored 28.4 points and Sheldon's pair, one included Rachel and the other skated to Falling Star..
8. Melanie's pair didn't include Leonard..

9. Of the pair that skated to Warsaw Nights and Gabriel's pair, one finished with 28.1 points and the other included
Penny..

10. The team that skated to Falling Star scored somewhat higher than the pair that skated to Poeta Flamenco..

11. Elsie's pair scored 3 tenths of a point higher than Penny's pair..
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